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CHECKLIST 4 
 
1. In a discussion with retail aisle staff, you have established that a competitor’s new line 

delivers a GP per unit of $4.50, which she says is a margin of 40%.  What will the retail 
price be? 

 
$11.25  Calculation:  $4.50 = GP = 40%, so price = $4.50 / 40 x 100 

 
2. What is the retailer’s biggest investment? 

 
Inventory 

 
3. What is most retailers’ biggest constraint? 

 
Space 
 

4. What are some of the consequence of too high a stock turn? 
 

Out of stocks 
Lost sales 
Poor customer service 
Lost customers 
Falling customer count 

 
5. What are some of the consequence of too low a GP%? 
 

Low cash flow 
Suspect sustainability 

 
6. In a discussion with retail aisle staff, you have established that a competitor’s new line 

delivers a GP per unit of $4.50, which she says is a margin of 40%.  What will the retailers 
cost be? 

 
$6.75  Calculation:  $4.50 = GP = 40%, so cost = 60%,   $4.50 / 40 x 60 

 
7. The “Retail Method” of calculating stock turn has what consequence? 
 

Over-states stock turn. 
 
8. If stock turn is calculated in dollars, what is the pitfall to avoid? 
 

Remember to use same units on top and bottom of formula, usually COGS divided by 
average cost of inventory. 

 
9. Other than actual number of units on the fixture, what are two other ways of expressing 

current inventory holdings? 
 

Weeks of stock on hand 
Days of stock on hand 

 
10. What is the formula to calculate GMROI? 
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